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Vertical Division with a Helper Grid Name:
Solve each problem. Answers
1) 2) 3)
5[2'8/3 2[47372 9594 .
2.
3.
4.
5.
6.
) 5) 6) "
2|295 6|320 8|928 8
9.
7) 8) 9)
8|888 3|941 5|316
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1 5/6r3 2 216 3) 6/6 . 5613
51283 214 32 9159 4
2[5 4 514 o 216
33 03 54
S0 _2 =4 3 66
3 12 0
12 4 147r1
0
5. 53r2
6. 116
7. 111
9 14/7r1 5) 5/3r2 6 116
2[2/9'5 6(320 8|928 s 31312
28 30 8
15 210 12 9. 63rl
14 18 _8
1 2 48
48
0
n o111 8  313r2 9 6/3r1
8!888 31941 51316
88 9 30
0 04 16
_3 15
111 1
9
2
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